n BEPTIOTOYADS

INPOTEINOMENEX
AITANTHXEIY OEMATQN

OEMA A
A2. a. X

B.A

Y. 2

d. A\

£ 2
Al. 1— vy, 2—¢, 3—0T,4-p,5—> a
©GEMAB
B1. oeA. 4 TAcovekTripaTa 3 TeAeieg
B2. oeA. 82 peiovekTiuara 4 TeAeieg
OEMAT
1. ogA. 20 TAgovekTpaTa 3 TEAEiEG
[2. oel. 99 MeyaAUTEPES TAXUTNTEG ....... BepUIKO aTTOTEAECHO
OEMA A
A1
W= HQ—:?? —> = % —3*10000%n = 64000 =1 = Sigggﬂ = 180%%% =08
A2.
V=%= 120000 =SDDD£—£=8P£

Fi¥: 15 k ki

Ma V=8m3h kai H=3mZN a6 1o Sidypappa emAéyw Tov KukAogopnT TOP S 30/7

WN.EKPA, DEYQH.E[ T0 UeAdov aviikel ¢’ quTOUC TTOU TO MTPOETOLUR{OUV



